ov MY be EOWY

2 E’_.."" U'c.“ ,A.u;u_w N
| & A 22% o 11wy ?
(A 1 B) 22
(c) 25 (D) 50
3984 of which number is 11 ?
A) 11 (B) 22
(C) 25 \(P) 50

3

<'The: sum of atmospheric pressure and

AMLSIL WA YA weudl.

(A) 2mrh \@/ ,'vz X

T 2
© D) nhh
Tell the formula for volume of c¢ylinder
(C) =n/4rh (D) =Dk
1 syofts 2R welld aw deq wy ?
(&Y 1000 B B) 100 B
(© 10000 Bu {m u:r Bﬂu
| cubic metre of water weighs
(A) 1000 kg _.;(B] 100 kg
(C) 10000 kg tm u:_r kg
HsS zaxi s+l esiudl 1;9.4[ ﬁ?t‘l i} ?
1.00 4l 2.00% AN {B} 020 4l 0.30%
©) 075 100% 1" /) (D) 0.604l0.75%
Carbon percentage in HSS tool is
(A) 10010 200% "\ > (B) 0.20 to 0.30%

(C) 07510 i DO% (D) 0.60 to 0.75%

ﬁan‘uﬂl{&& a-t;t i‘ir ilm-ﬂ Al sed -

(A) Qole Doz B) Ard AW
(€), dee LS (D) asey2 AR
guage pressure is called

) ,Natural pressure

~.\(A) Normal pressure \((E/
Absolute pressure

“~\U(C) Total pressure

S I’ | L1 2 sut Bigid R sl R B 7
” (D) +2 A e

€ ¥
Micrometer works on the principle of
(A) Screw (B) Bolt
(©) Sud (D) Nut and Bolt
TA_A ] 2 1
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7 500
mm Sl Rg goy §a-2 sl d2a 302 faeni 2ed| uy 7
\(?’ 125 P22 (B) 25 P2
$2 125 lazr D) 250 Raza
What is the total capacity in litres, of a coolant in a cubical tank of sides
500 mm ?
(A) 12.5 litres (B) 25 litres
(C) 125 litres (D) 250 litres

8 1S : 10714-1983 ooy -1l N-2o-udlor QSoi Jeal wsell a{iﬁﬁji.:-'ff.;_ o

Uy B 7
(A) =2 \gﬂ/ i
(C) =&y (D) PR

How many types of lines are used in general enginggﬁﬁgﬁ‘-_dr&ﬁﬁﬁg as per
IS : 10714-1983 ?

(A) Eight (B) Ning -
el )

(A) agswl LA ¢ Al

() Akfewt T y (D) Rudla 58

Identify the angle
(A) \ TAcute angle
i {C) “Supplementary angle

(B) Straight angle
(D) Reflex angle

10 Biéarsl A9 veu-d W
S ® 60

A) 90°
Uﬂ
©) 30° . \_93{ -

The sum of three angle of a triangle is

o B) 60° -
(A) 90 ; .
(D) 180
() 30°
Downloaded from www.msugujarat.in [ (:“l
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t3 qﬁtﬂu—ﬂ Awd Gul Slusul sMU:

k-

A
(A) B
© D i @ C )
Which dimensioning 13 correct according 10 standard
(A) 3 (B) i (C) (D) % A
(A) B ®) A |
() D (D) C Z
L TTURL

12 X oot Sl 4l

A) = ada > {B} ’-h;l.,’il 213
(C) ada s (D) Ag4 e
The portion ‘X' is Lnown as..

(B) Sector

(D) Quadrant

A fa A e s aparll Gudldl

Ty ?
(&) -1 w3 (B) olsd ¥
€) A4 33 D) Vel B2
of hole on a circle on

‘tﬁuc igs are the jigs that are used to drill 8 series
" ncei of workpiece ?
(C) Chme% ].lg Downloaded from www. maruguJaGB,) Box Jlg
hg D) Solid Jig



- (A) Ad ol AadloL e

14 ddi-fsa 2uq
GuydlaL Wy 8 "!'t wé Aedl-Ysa faan dfad diz KU M dzell
(A
(‘} L UL (B) ells dk2
Ewgnichvtifﬁ?-; (D) ola dber
feature on aﬂw:r‘;‘g;rg used to locate from cylindrical oF per fmdrion
Wuﬂh locator (B) Solid locator
V locator (D) Box locator
15 el seael Awdl ur suuai suad je2 DG dedl du B 7
(A) 15 ol 20 »(dl / MR @) 10 oL 25 ¥l 7 er
() 2541 30 oIl / HleR (D) Sl 10el/ Wlex
Draft allowance on outer surface of pattern is ? /X
(A) 15 to 20 mm / meter (B), 10 to 25 mm / meter N\
(C) 25 to 30 mm / meter ( 5 1o 10 mm / meter
16 A4 3@ Aza- sl we amarti »uadl walldla g2 ladl@qé‘?
(a) 1545l @) 710 Mo
©) 10 150 @) 450 skl
For/ casting of non-ferrous metal machining allm*:-»r:nu:el\;..“F
\M_ 1.5 to 5 mm (B) <710 10.mm
(C) 10 to 15 mm (B 13e Vs mm
17 Al san fa i MR 2R f}“ﬂﬁ@?
(A) MTOLMTS CAA\\EBY/MT 0 ol MT 4
(C) MT 1dlMTA4 RN oy MT 1 L MT 5
The morse taper prmﬁded-j‘hﬁ=ﬁ_ﬁll§"g§iﬁges between
A) MTotoMIs N~ 3 MT 0 to MT 4
(€) MT 1to MT 4 {0 (D) MT 1 to MT §
18 a-fux s nu&ﬂzﬂza,-ﬂe{ha 562 9 -
Least count bfj\apszﬂ}hﬁjﬁétﬁc micrometer ?
Ay 001 \(B)" 0.001 «©) 00001 (D) Ol
19 3 Rasihea R ud!
gl,a,)f:_‘:,_; ~ (B) 3 wual4 ) 3 (D) 2¥uU3
A-How-noany jaws are in 3 jaw chuck ?
A\ (AR 4 (B)3 or 4 © 3 (D) 2013
S0, s AR A e &1
| (B) 2uR Aot L4 Ml We

(€ Sl qupllzr AL e D) Al Nade As KU We
A sine bar is used for

(A) /evelling the job for drilling

( finding the angle of a taper job

C) measunng the diameter of holes
*“ﬁ"l‘i{:nﬁrtfujarat.in

(D) checking the profile of a



22

23

21

o @ Sl »uA W2 QA4 B !

(A) 8 fellor U3 Hi2
@) Adi s Mo Ussdl M2
© ddi, P, oL wuiu- e

@) el Huru H12
Drilling jigs are used for which operation ?

(A) Drilling operation only

(B) /Clamping the jobs while drilling
Jﬁlﬁng, Reaming, tapping operation
(D) Tuming operation

a. . Wy sql wi-sd doudni Guasy B ?

(A) 05 R (B) 18°
(C) 06 ¥l2: D) 16§ /)
GI. pipes are available in a standard length of
(A) 5 metres -
(C) 6 metres
2y Al oAl QU B ?
(A) e ¥la LB wdw ¥
(C) @ sl ¥y ACNUHD) e steld ¥
Taps are made of 2 Nt
J mild steel | NN e | (B) stainless steel
(C) low carbon steel ‘ (D) high carbon steel
DAyl 0 il"-l?.-ﬁmat -l ?
(A) Q%R & " B) W
€). gads © D) £ s
Which of the following is not the part of a shaper ?
(&) \, Clapper box (B) ram
(C) “tool head \(]y/tr:mss slide
" dn yellidfl A 565 Ad Ae s 2wd S 7
(A) sl B) au
€) e sus (D) s 25
Chips are removed from the lathe machine by
W) (B) brush

(C) cotton waste Downloaded from Www.marugu@ a pi&ﬂ-ﬁ ﬂ‘f Clﬂth
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29

a3 5200 W2 quud B.
(A) &S s A wb &l

@) & Al wA 4\

©) @ wis 2R A 8

O) a2l %A ad 48

For undercutting is used.
(A) high speed and high feed

(B) high speed and low feed
(C) Aow speed and low feed
@) low speed and high feed

a-fuz S Mg s HA W Qal Q¥ s Al s ma____a..'é N

(A) ¥As (B) 4
© ks (D) 43 — N\
On which part of the vernier bevel protractor divisions are marked by i
degree ? ) \C
M:k @ dial NN
C)Y’ disc (D) blade
gello uBa gsaz sl wifsL uona’y w8,
(A) ga-ll ade 208l udl
(B) g4+l waIurl £ A4l
(C) 247 daMit g2l L
(D) s 3 uz wiey QA N
What is the ultimate eﬁ“ect i case’ the cooling action is interruted ?
Tool life gets shorter—
(B) Rate of tool \wear increases
(C) Tool temperature reduces
() Friction at rake face increases
q-flu wise Iwd B2 G2 Agls Ruezwi 32d B 1
Aa), 0.0 bl @) 0.1kl
\‘(?/ 0,02 {Il @) 0.001 ¥l
“The least count of a vernier height gauge in the metric system 18
A) 0.05 mm @) 0.1 mm
(C) 0.02 mm (D) 0.001 mm
yfHa medloL A2 et A AE B ?
qf 20 @) adsa §
D) §s0u

(C) ™l -4
The universal milling attachment is driven by
Work Table (B) Vertical feed
?t% Machine spfﬁm%aded fom wwwmanguiratin (D) Feed gear box
s | ‘ {



31

32

33 Milla sl -l 59 PINk

as?

Aedl 2aanl W ol sl # - -

(A) &8 §ls g ety i

(C) A s WA 68 . ‘

Typ¢ of feed available for rotary table 18 >
Hand feed (8) iou:v;rn:u o

(C) Hand and Power foed (D)

su-or e i st UELC SR | gaami »ud 37

(a) g @) R

(€) AR o) fa=

The operation of sharpening a grinding wheel is called

(A) truing (8) aligning

. (D) balancing

\{C)/dressing
ez or-udl w-tqt ufz cumq i# ?

(A) 0.020 3l (B8) 0.002 bl
©) 0010+ D) oom t[b(l
Precisions grinders are used to maintain cinse tolerance.f, upto
(Ay 0.020 mm {B} 0. MZ mm

(C) 0010 mm (D) '0:001 mm
CNC. 4 4 -t weudl

(A) SRR R 5«;1&

(B) 524 R s“&a

(C) SR -*p‘{ilzsﬁ -m.

(D) WX vg&asa e

Full form of CN. C

{A} Cumputer Number Control

{B} Cantrni Number Computer

---{D : Cumputcr Numerical Control

L O N.C o Hall4Mi MOS 18 sl M2 auu & 7

(A) Wl-sg w18 (B) e @y
(€) g4 A%
; g; | (D) MAH A=
: 5' .. d]n:;hme MO5 code is used for -
pindie start
(B) Spindle stop

(C) Tool change
Downloaded from www.marugu{Q} Pfogl‘ﬂm end
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36
(Ay Z =i (B) X ~alln
Yy =l
; _ (D) X = Y Al
CNC milling machine from which axis tool is travelied *
{3; 'E ﬁ (B) X awxs
( (D) X and Y sxis
37 'ﬂi'“:ﬁ:g wivia A2 9 de Ae R RaM wag W !
() S5 s (B) ‘@3 el W= 4l *’:{y
{thhc} one of the follo () s, S ;I: ;“ \
s ¥ Wing operations is not done on a workpiece hctd, "
(A) Knulling
. Under cutting by pluntgmll
(C) Thread cutting (D) Parting off e
38 da-u BuA {Adl Rl B . Q.
(A) 562 N2 B) HGR aﬁ[}.ﬂ 7
(©) a2 &Rx (D) ibﬂ;\ e k }
MPMﬁMMIMMthMMﬁcM+ e
(A) Aounter _bormg (B), Etuumﬂr sinking
(C)Y’ Spot facing uzn Rﬂnl“mu
39  wol=a e AAs Bileu a‘m"ﬂ. gﬁ”: zpeiét Ay HAAuani ¥ AL WRAR
52 ad ? NN )Y
(A) 53 13 ,H \t_E})*' 813
© wlaals T Y (@ RPM
The distance which. lhe Eum:nn edgf of a tool passes over the matenal in &
minute while maclﬁning s known as
(A) Cutung spceﬁ (B) Feed
(C) Maci:me speed (D) RPM
40 éla?. a‘m& &uﬂ‘m -
(51 L oudll 4R sefluat A% KU

(B} Sl serr-l W
SATC) Wb s KU
L) e died anRl As KA

A5 KU

Use of feeler gauge |
To check clearance betweehi mating parts

(B) To check outer radius of work pece

(C) To check surface roughness

locate

(D) Tn Mk accumﬁﬁwrﬂoidet] 'from www.marugujarat.in
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a AP gragied i Jardlor AR TR iy odut S
(A) T AR s AR
©) Medds AR ® - grument are known as
Measuring errors which are due to the measuring 1
(A) Rendom errors () Observation €70
\(9/:-ystma1ic errors ) Contact SR
a A ane Ad-2idl sl R quai s AL Brea 42
(A) R B) il
© R o) wezAeT T
Which one of the following joints will first fail due 10 t._rf‘-‘r_i_-"_-‘-'a“ 1
temperature ? 7N\
(A) Brazing ®) Welding ' =
(C) Rivetting \(?)S:}ﬂ sobdanng
o il S0 g e e (slef ufupRs) w0 B
a) edtu /7 @)
€) 3s4dldl A A=l
Which one of the following pmpemes offers resistance to abrasion ?
Hardness '_ Toughness
©) Ductity - 7 () Malleability

a4 ws- dadl 35 As s —— U 8.
(A I ®) (o 22
©)- Ay e D) sl 22
In 'op fer to detect the cracks in a grinding wheel the test adopted 1s
(B X-ray test (B) Ringing test
© _§Suap water test (D) Hardness test

s DAl s g Wik g 8 ?

(A) AR (B) Yalssdl
€) SRl D) 257y
wh is chemical property of metal ?
Cﬂﬂﬂﬁlﬂn Downloaded from www.marugujarat.i(r:B) Condumiviw

C) Brit
(C) Britelness (D) Toughness



6 s S MR ol U3 adl A ey g 9

47

49

(A) -se 83

(.B} & -
(€) ¥ @8 A ©) :;: E’; s
Thread starts from more spots known ag I

(A) K maecal thread B)
(CY/ Multi start thread LeR hand thread
(D) Square thread

Hd Gudla g 8 ?
(A) sdlu-y gl

B) a-dluq &2
(C) w2 Ry [uem
(D) &
H is used for } B
(A) Clegrance fit (B) Transition fit —
(C) Shaft basis system \9)/1_[ - wﬂm
sudella 4L WS- AS-2HL QU B 7 _ v,
(A) -5 2o~ ®), ﬂu ﬁé-a
(C) % A= (D) (auru EL I

In which type of joint eye ball is used TN
(A) Knuckle joint : (B)
(C) Screw joint D,

ller joint
All of above

Aa{lerd uiutt a.lvu ‘R mtua :wl } 7
(A) 2elo-t-il ilésm 'q‘e B) -dpad JuR JM W
(C) qililﬂta Hﬂm aeﬂ Ww D) R -2 AR NS

The Upﬂ'aﬂﬂn of Yotometer is based on
(B) Pressure drop acrossa nozzle

(A) Rotatmn of turbine
(D) Pressureata stagrmtmn point

C' Vanable flow area

:-mélé‘m-t ABE st ©.
(A) Beiud - %frﬁq
(C) PATER ! | (D) MDA
Distillgtion 1§ 8 —— o -
. _ (B) Grinding
( Filteration (D) Drying

(‘C} Scparatlﬂﬂ Downloaded from www.marugujarat.in
i1 | Contc



peaa widse Aa-u eds yeterilyg [ 28 ?

i u
=» :Tﬂ:::;‘ﬂ (B) ciuHit
(©) $8 (D) Guau L
Which of the following vanables controls the physical propersties of a
perfect gas 9
(A) Pressure (B) Jemperature
(C) Volume (D) All of the above
s2 - flead ywu 2w sy B 7
(A) sl 8™ B) au el %
() Rxa (D) A s
The main tool of Bench fitter 1s &
(A) Hacksaw frame (B) the machme \‘} B
(C) Chsel {[%l::mh Vic
53 [ sdl awa Gadl ’ﬁ\&tﬂ QA sl ‘ll? d¥ 541
Fra el Gwda sl ? Eg
B@ g

(A) ¥Asl 92
(©) s~ A
Which safety device will vou use otec vourself and your co-worker
from flying chips while chipp %1

(A) Safety boots Qr{&’/{ﬂ} ‘Hand gloves

(C) Gnnding aongic« =\ Chipping guard

&4 3adl uaﬂm 34l m\wa w2 2y 2a Gyl 8 7
(B) ¥la ¥

O (D) Sw
: Yq;s.eml for transferring the dimensions from the rule to the

(B) Steel square

C (D) Compass
A
S8 efRumidl sy Nl 2a B ?
(A) ¥ 34 (B) wa
€ a4 ¥z (D) fadR

Steel
(C) Tw qn:t Downloaded from www.maru&ﬂ}t.in Piln(‘h
i (D) Diwider
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59

(C} Glass

sizvield Al asmami ayy ¢ ?
(A) ¥4 34
©) Juse S Aen

Right angle is checked by D) Seauds dellur

() Dwder B)  Try square
(D) Inside caliper

¥la gadl qias Qs Yo g ?

W 1o N
(C) 0.02 Byl iBDJ; g.t:l BE:lll ?,fj_;-{?.?
The reading accuracy of steel rule is g T

(A) 1 mm . \m S
T (D) 05 mm>

azadl auq[‘n n. Aq -y 3 BiaL 33 v qﬁ'ﬂ amq %@ ?,_-

@) v (Bl W :*nl
C) n=Alv ,_.‘gm p= 1y
The relation between ﬁ'equenq ﬂ wave iength 3, and velocity v of 3
wave is - AN
(A) n=w SR B) v=nh
(C) n=Alv f\“‘::iif‘ (D) n=1W
AA-unidll [ti‘r&élq 6*2!.&1 é‘lvﬁ Al ay 8 7
(A) é.lﬂ @) wel
(C} (D) sU
'Whmh nf Yhe following has highest refractive index ?
xY Diamond (B) Water Al
(D) Air :

o [(Eudl 5, a, O 18, 12+ Hed 9 élq\j;(w _
1 4

& ¢ o 1

For the data 5. & 6. 18, 12 mean is 9, then a =
(B) 4

A) 5

(_ ) Downloaded from www.marugujarat.in (D) 18

(C) ©
o | (



7
! Reuniell o Seaal 2 B 7
Reeell quu A da-umidl o ol

el 2 d2
(B)
D) uwa B

st
. uvl
() AU Y ; "
se of heat treat of st is 10 chang )
I'he main purpose o catment \(;?ﬁ N hanical properties

hemig mposition
(A) chemical co | :
(C) corrosion properties (D) surface finish

R a2 G2 ALl A3 T @y ) §-foy iz M Y, dl Ssdlaa-2 geda

62
Wy -2
I 4 M’ j
(A) \/ > B) JM*-T° N
© M2 O G O\ ©
For a shaft subjected to a torque T and bending moment M, thﬂ_-'?ﬁ?*Y.ﬂmt
l“-lsung moment is r \ o7
I M '
™ ®
©) M/24IM47? D)y Y
63 Agarl GuA AAniell § wssq wEF AN D7)
(A) s 2 PN () PANCTRCEIEY
(€ e ollen A NND) FRGEe
Mandreals are used to h“’_dfﬁd“a.: “~~~§_‘_‘~-:
(A) cutting tools % hollow work pieces
(C) dnll bits S (D) face plate
64 -DA-uniell A0 G 3HR2 A Ul el ?
AEH ASUSS

(A) sielt NDswB (B)
©) 2w, o (D) sl RS

Whigof the following is not used as a refrigerant ?
Ea;bun ‘monoxide (B) Sulphur dioxide
f.~:{'§-}.},._"§}ﬂil_110nia (D) Carbon dioxide

*5ar€ﬂ°l Q5281 Aot std NAvumisl 83 Ay efl ?
(A) M2sdq qdiae 43 v B) &4l 32 qyrdl

© a1 Reys 524 (D) ubA Reflasy sl
One of the following function is not performed by coating on the weldir

electrodes
Dowrﬁ?,as(Bhsmww_mA@ﬁ increase the cooling rate

(A) provide protective atm,
(C) refuse oxidation (D) stabilize the arc



66

67

69

70

dlaz A=l GudA § N w2 ?
A) A= wed qaild) selu (B) 2y As-u \la
(©) squy W (D) ‘Azl wnus

Feelgf gauges are used for measuring the
Clearances between mating parts (B)  Pitch of screw threads

(C) Radius of curvature (D) Thickness of plates

2 dlsdla il 0A-uidl S 2eler & ?

-lse Hlsd2y
(A) Ut @ sld AR 27 @l G S0Y R

B) Glasdg dg 2 Wi
(C) »uGy2 »iA 6-1ye

(D) BGuU oL % Rusedl

The mechanical advantage of a lifting machine is the ratio of

(A) /distance moved by effort to the distance moved by load
load lifted to the effort applied .

(C) output to the input

(D) all of the above

slfA GuR WAl M g wig o Ao ot

-l ot A Ao e fsun sl _< O

294D wad A @

(A) A /By
(C) ul AN D) ; Guanidl Asumt B
the-body. up the plane will be minimum if it

The force required to mMove

makes an angle with the mclnedpiane
(A) greater than N s less than
(C) equal to (D) none of these
Gla eouet __ﬂtimai: &e[lqa AR
(A) 1_;[[_"'5__- bar\), g | 10 bar
(C) <1015 bar @) 5l 8 bar
In.a high-pressure compressor, the delivery pressure is
CAY 1\to 5 bar ®B) 8to 10 bar
“N(€)-\10 to 15 bar (D) 5to 8 bar
gells AMsd A oS AAmidl Al WR f B!
(A) Al w4 (B) Sdsuq WK
(©) si-lz wusd (D) %Q s
A closed cycle gas turbine works on
(B) Encsson cycle

(A) Rankine cycle

(©) Carnot cycle Joule cycle

Downloaded from www.maru 'ara; i
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72

74

3

iy e Alsu-d yelvr A4 UW A

C1 aa%a qli-u .
t{';lj oldl ¥ a6 FAU-d Hdt 53 Al Qe Baru 5™

© & uwa AU AuR ARW W w1l

(D) Gu-L ALY

The static friction
between the twio SUT faces
(A) bears a constant ratio to the normal reaction g e -

(B) always acts in a direction, opposite to that

move .
(C) , is independent of the area of contact, between two SUriaces

(DF all of the above

yelddi Wl gy 8.

(A) -2y (B) A%

©) 2 D) Swedla 8 |
The matter contained in a body, is called P
(A) ,momentum (B) weight
C)/ mass (D) unpulsw: }'Brce

AduR WAy el uvlds ol ﬂra&sa-t
(A) WUl 2R UM A N\
(B) Glad- qe-il 2d N '

(C) Qu=i-ll MU

(D) doud«l "eteil AR [ A0

The deflection of any rectanguiar beam sunplv supported 18

(A) inversely proportional 0. its width~
(B) inversely proportional to"the cube of its depth

(C) directly proportional-to-its_weight
\-@/glﬂ.‘,ﬂly prupm'tmnal to the cube of its length

seMi ddl 39 A 1*-& ®AQ yellv
(A) dl-lur- (B) 424 ¥
(C) qleuﬂﬁﬁ :étSvt (D) WSA Aeln

The ﬂum nf chmge in volume to the original volume is called
(B) Lateral strain

R(»% Volumetnc strain (D) Poisson's ratio

x__.;!._’f;_.r',-_-:f'.'ze&-«a-'ia U 2 WPl

S A) dlee W e R w7 el daus
T (B) Aaudl dous i dle Wy 21 R

() dlRz WA g 2udu 24 fan A
(D) fead AR v dle WuA 20 U
The slenderness ratio is the ratio of

(A) least radius of gyration to the length of column
length of column to least radius of gyration

(C) least radius of gyration 10 area,of column
(D) area of column to least radius of gyration



Té

78

79

P

e,

s,

80

wi-it Aubed Al dd Wb S asliw -l s i

aail R R w2l Al
TR a4
A) adse A2 (B) wahin A
© &Qt () afla W
between the cloments of A pair s such that 0 can

When the nature of s
oy side celative 1© the othef the pair is kpewn ns A
s Shiding pav

. I .. '. AT
":: .‘: :.':cﬂ'“ ;Ilfm (o Turning pait
o Rdl-R wplla 4 wardl SR ke du A du i
i ;

achifas 4 3 AsA !

1.1», ﬁj-[l wd AR sl AluY sadl AR

gy aa e R wi olma 483 A= / 2

©) A yfa i ﬂasaﬁgé‘ﬁ :
" AR

i iR \mmediately i a cylinders lenks due tpm,ﬂ

What should be don€

o ﬂrE{\ p'l'ug ? B
(A) Ty to repair it yourselt
(B) , Ask others L0 repair it

" Move it to a safe ared
(D) Inform to the supp!ier ,. \ :
et azd Dwou 9 ?

atel 5ol el il e sy ATT
AN {‘Bﬁ /el

(A) Y& 8 RN
() »oe N/ @) gopRIyst 8l
Which quenching media_is “siitable for plain carbon gteel for harding ’
‘i}l Drv anr fh tB] Wwater

(&) Ol L (D) Forced air

sl ma«ﬂmaﬁ.&u SR waR ¥ 4 8 7

m},ﬂﬂﬂwa;&u @) 4ids ¥R

_\,_;;f)x_x'-::ﬁ'zélﬁ;_ R ©) ews W ™R
_Which type of power hammer is fun on Hygraulic power 9
~(A), Drop forging hammer Preumatic hammer

(D) Hydraulic power hammer

"-___(C}"' Gteam hammer

el dlled WM QU

St Al
(A) JeQSHs M dle @) ods s Wl
(C) AW dle D) A de

NameAhe iron sheel conted with 7inc
ax” Galvanised wot sheet (B) Black iron sheet
(D) Tinned sheel

[(‘1 CDPPL‘-T h"hL‘{'i Downloaded from www.marugujarat.i
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lﬁsﬁdlzﬂ-uqq;mm&ﬁ’

4 #fluvu Mg
B, e B Ad-ubss wund 2

31
dlz
:;; i: diz - D wi-au e di2 i
Which Mmm&ﬁmmm:a;’fm_w;““
& ST
5 wiEu-afldd e €l S waked s usiz-l eal Wy w3 8 ?
(A) G52 usiel @) Bunmo usi-l
(€ umz sl (D) € 23R us+l
[n jow pressure system of oxy-acetylene welding which type of blnw pipe
(A) Injector type (B)/ Mixer type AN O
(C) Pressure type Low pressure n.*pe
83 s usiadl san-l Gudl s5d sud-u defln w2 ay 37 ? ; |
(A) -4ga $aM (B) a&téanﬁaﬁq a&:(
(C) sefudhln sax (D) aisll q&q
Which type of flame 1s usedonl}'fortheneldmg gfma
(A) Neutral flame @{ O‘Eld‘lﬂng flame
(C) Carburising flame 3 v flame
84 2iwshiz
(A) AC 532 20 B
(B) DC &2 8 5
(C) AC wsad™, el ﬂa H{'lé
(D) DC w3 qr-.ﬂq ,a%a Y B
Transformer gnus
(A) AC curfent ) /
(B) /D(“ mﬂ'ﬁt
O AC ptﬂsatmg current
ﬂ)l DC* pukatmg current
%i&gﬂw

Al ef A8y v d 532 du B

V\B) a4 52 Wl Q) Ay dy @
(€) ALY 2 532 vl QY B

D) 43U sy ¥
Arg/welding requires
- l‘ﬁ.gh Oh%t' and low current
6 (el i ik

J urrent m WWmarugmaratm
(D) Al of the above



g6  aub Aefont, b A S5 oA bl @ el G iy @ —1

(A) siesll d
(B) ALY
© wddua-dl alRisaiil
(D) H-es2 wlle
. In arc welding, arc is created betw
(A) Flow of current
(B) Voltage

(C) Material characteristic
(DY  Contact resistance
oo sall-il udl el

g7  dudoy -uw weudl ¥ ¥ 6wl A

een the electrodes and work done by

(A) dlq (B) & SR
() W2 @) fla As ™~ AY
Name the accessories which is not used in drilling machirie | L\
(A)  Sleeve B) Tool halder K
\(5/ Socket D) Drill_chuek
88 -3¢ Ay wsel PN
(A) PV =nRT /AB) PV = mRT
(C) PV = 1/3 nRT @), PV =C
General gas equation is ==
(A) PV = nRT \93{ PV = mRT
(C) PV = 1/3 nRT N @) Pw=C
g0 Arapt-S-fRea-d Guida Nl ue
A) § A N\ (B) dwMit
( Al 56 (D) m.ep. and LHP.
rmine the following

An e__ngi"ﬁé;'_indicaim is used to dete
(A)\ speed,
y (C)._':' ‘volume of cylinder
ol Al Sra2 e D30 Doe s viedl

(B) temperature
(D) me.p. and LHP.

g 512 s Use A

L 34 8,
(A) 180° .
© 2 (D) 200°
The inlet valve of a four stroke cycle 1.C. engine remains Opel Sy
(A) ,180° | 5 s
\9/2350 Downloaded from WWW,mamgujar(a?n) 2000
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92

93

94

dotits @ dflafa sldasi dlzeeys

(A =udl B) Gefl
) =il (@) wudl A ARl
The water tubes in a babcock and wilcox boiler are

(B) vertical

(A) horizontal
(D) horizontal and inclined

\(C% nclined

Nze3ds Rudlxi, 1m? sdid ¥ R

(A) 0.5kg (B) 10kg
(C) 13kg (D) 22kg

1m3 of air at atmospheric condition weighs approximately AN

(A) 0.5 kg ®) /lokg

SaNds i, A4da g{ldd s

(A) 43

©) Gl
On psychrometric chart relative hi.imxdlty Yines are
(B) horizontal

(D) None of the above

® g
(D) (mvut[l wsyel s

A)/ curved
(C) vertical

i i ]
vl iyl ﬂmﬂﬁ ﬂ vﬂﬁvu AU

(A) h31"'2 .- Y hS.-"Z
©) hi2 = (D) h372
The dlsc.harga ‘over a V-notch weir is proportional to
: (A) h’*’-? (B) h3/2
(C) h!/2 (D) k372
L Al ARy w5 D ?
(A) A% (B) =
C
( ). Wdrey ©) wel
Which of the following is a vector quantity ?
(A) ,energy B
Downloaded from www.marugujarat.is‘ ) mass

(CY momentum
(D) angle
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98

99

5 du, W oIR8, A di-flur € 208 wdl
(B) =mpP - C
(DY P=mW + C

oI P W&
(A) W=mP + C

(C) P=mW-C

qui m A C »anis 8.

When P is the effort and W is the 1
by the relation

(A) W=mP +C

(C) P=mW-C

Where m and C are constants.

(B) w=mP-C
(D) p=mW+C

wedat L adl e B A ed

(A) wla
(€) Wway 2y Wla

The total strain energy stored in a body

®) e wled

(D) 2R
is tepmed as< L :
By proef. ,teé'iﬁ:pii_cs-f‘ |

resilience | .

(C) modulus of resilience

(A) 1 dls {ng dls
) 3 dls -*.'f(m 4 dls
A simple mechanism has

(A) 1 link (AN B) /2 links
(C) 3 links ” (@f 4 links

AR Sriks2 2 e, D Foia
{ A} ltg“ -, \u.\_ \
QNI o

(B) 20°
(D) 45°

Theﬂoch angle of the 1zod impact test speciman is
) 100 ®) 2
A0 30°

450
wle s-25Add- Y2
(A) Ns/m? (B) W/m°K
(€) J/kgK M) 1/°%K

Unit of thermal conductivity 18 \(B/
W/m°K

(A) Ns/m*
(C) J}!’ kg II'JK Downloaded from www.marugujarat.in (D) J f GK

oad then linear law of machine is given



101 asu wes (bR Lard 8¢
(A) DS g2 KA N2 @) auifl R 81U w2
(C) Sy *uy wasdl W2 @) A=l B ogadl M2
The se of seasoning of wood is t0
(A) / Reduces the voids (B) Removes the curves _
G'/::Ju the moisture content (D) Change the direction of grans

102 W28 AY A
(A) skt ga 8. ®) ‘el g 8.
(©) o3 g4 8. @) kA g
The mortise gauge is a
(A) Striking tool (B) Planning tool
(C) Boring tool \{%ﬂmking tool

103 u s3ad sunidl 58 B 7
(A) O WA M K A szl s2aq
B) @il Rl Rl su Hi2
(C) & asyHl d-sqaiell sas
D) G-l aux
A rip saw SHON
\E;j)/ls a two man saw AN N\
is used for cutting along the graifis of wood/
(C) has a narrow blade with two wooden handles
(D) All of the above o NN

104 oud =1yl (pattemn) 22 MECIERICEEL Q At Gur-l snAR QAL
g 88’ YT
(A) A\ @) s
© A~ (D) Guanill ABuSL
When a pattern'is made’in three parts, the top part is known as
ag \\ YV (B) Check
S, MR (D) Any one of the above

105 2l (Swab £ad)-l Gyt

() Mlei dg1an Aidd 2 AlouL sl
(B) el A Al s
(C) =yl stecl Idliel B g3 sl
@) el *wud 2 aedl 20U Al

Swab is used for
(A) oothing and cleaning out depression in mould

(B) .lez_ming the moudling sand
(CYf Moisturing the sand around the edge before removing pattern

) Re‘pal'ing a.n'd ﬁ‘[}iéﬁ‘iﬂﬁdefﬁ%“ Wlldujarat_in



106 WP (adll) oellsvit GuHl

107

108

109

()

(A)

@) Wil s dukal W2

©) naardl 2678 AUl M2
Scriping block is used to

(A

awffa quid A0 ASRA dlsaq uR

N AosiRA @3z s I Aaqan we

Hold the round bars during marking
Check the truness of the flat surfaces

Locate the centre of the round bars

Check the surface roughness

sl sadl aud gl o) 2l ¥l DA W B ?

(A) 45° (B) 90°
(C) 180° (D) 270° | ;ij_-:_-
During operation, the twoQ arms of the drafter remains at /- k4
(A) 45° (B) °

(C) 180° \{l)/?;;ﬁ“ i

sl sidiell Wede 3l & 8 7

(A) sl

(C) s
The profile of a gear teeth
(A) Parabola

(C) Spiral

ada-i wlRH
od aRs (¢
(A) SISNRSEA\SE
(©) ASEASE
The curve genera

(C} ~Cycloid

) A A AA 30 mm

( 2 ) Yl Gy 30 mm
the Vertical Trace (VT) of a

then its position Will be

(A) 30 mm in front of VP

(C) 30 mm above

wal Rigelt e aeis & sl a8+l SUgH

{ed by a point on the

wﬁhﬂutshppmg along outside of another cigcle is known as \
~ {A).\ ‘Hypocycloid \LB/C Epicycloid

I.I)-Pvnloaded from www.maruguijar

) e

is in the' form of

odA) Involute
}) (D) Helix

L ayl PR

@) Susselds
D) 2RSS

circumference of a circle, which rolls

—

(D) Trochoid z

mm Gux adsd g (VT) 8 d ol Rl

@) LAl wya 30 mm
D) waldl {3 30 mm

line lies 30 mm above reference line (X)

(B) 30 mm behind VP
(D) 30 mm below HP

I Cont



1 wubaags dforu aka iq dan !

(A) Sediug (B) Hiﬁﬁ:% 3
() uka (D) HuH'=
A circle will appear on an 1Sometnc drawing s 1
v{_ﬂ:)f Elhipse By ( :,H.TII.'!:J.
”E'“I { mcle N parabola
- ay . ™ & '=':'1"||P 5_".'%‘_:“’.:‘ F -_
112 A3l 58 uel «dl Gualaou 5 % W¥se dHE" X
o 'ﬂ'.
} o m e EIELE
(B »

(A) wuHAIHELs
(C) »ilfetes

Which of the following projection methods
perpendiculars to the projects on plane "’

f4) lsemerrs \Lp"i Ol

({t Oblique

(D) wisAMINELS

does no’

113 oy -l e wg 8 7
&'ll:‘ i w] a¥

(A: &iY2 s (24 (B
(€1 #luz = oAey[kl-1uy @ ST -

Brass 1s an alloy of
'\I‘.M Copper and Zunc (BY Copper and Iron
(D) Coppes and T

(B oflq ns

(D) YUY 574623

hich can store elecincal energy are called

Mignet.c matenals (B} Semwcondui-oos
Dielectric matenals (D) Super cond:cine

1S aysl A (perfers gas) w2 Ddudl s4) v e o
(A) olda-l [1uy B) Al [quy
((‘J i-ﬁ rﬂqH Downloaded from www. arg rat.inl[iu:"ll-l'il ﬂ'HIH

bt e ) Wl AM=—=rrSanrgoar



A vl 3 - Colapsbain, (B) DM - ’

S NI - Codesveness Dy Agsu -

The propern of samd doe 10 wiach @ evolves 3 grest SmOUR ¢
ST gses = caled QL \
(A} Colapsibeiny \BY /Y -

WO Cobesiveness D)

£,
18 S=->yine dasd: 44 I8 weiiv Q\}i‘g{
A Awmiy 3@ @:\i -9 e
) e senie b AR ) s aub e ,
Rig o7 e Salommy weadog ace-coasumable clectrodes
TG wedme By MIG wekiing

A

| £ . ]

\ft- N T woidmg x“i} D) Submerged arc weking
£ az T a3 6 | ny B 7
Saw 3 - &QMM&“"‘-

e tj P ‘\3\7 B Nusd as€l (currest)

LA -_

T

WP SRETe e, _

h_ "::_.f, "

Espﬁiﬂdm&:mkndth

) | .

A o , ) Mg &R -

S N @ﬁ*‘w’"‘ ey et
(A ?ﬁ.ﬁ& (D) af w4 2
) &% == - -

(4 MEC == D) Mgk carbon stes
Downloaded from www.marugujarat.in
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121 sl (<334 VR ‘ﬂ"l'.iﬂlal st wis 'ﬁtﬁ 0| ﬂ_q !la':ll‘l -
(A weEl us @) NAfa 4o

(©) PGS ud ©) AellAut ub
Blanking and piercing operations can be performed simultaneously in a -

(A) Simple Die (B) Progressive Die
\{y/f‘umpcmnd Die (D) Combination Die
122 58 sl sRu-ni ge Al vtz Al ay w1 B 7
(A) sl (B) Iw 2§ 52
(© &3 (D) A dl NN
Which one has the greatest effect on tool wear out of the fullowmg a[:uttmg\
cQ on ? _
( Cutting speed: (B) Depth of cut
(C) Feed (D) None o~
123 idls P Ad-sidl 56 veliell s 8 7\ T
(A) B (B) '-al‘qat M?m-t 523 WA
(C) Al s 522w {D) I‘L{H%t{l
Internal gears can be made by SN
(A) Hobbing _ -; ;; Shapmg with pinion cutter
(C) Shaping with rack cutter (D} “Milling
124 AR-unidl sy Naulus G 19 ? =
(A) ataq-ui%{ot B) Sasad
(©) Rea sy A\ D) GUR-L d3M
Which of the fo%hmmg are metallic coatings ?
(A) Gahamung (B) Electroplating
(€) Metal caaddmgs : \(_r;/ All of the above

125 aa-s.f\ t’sf-‘u icu usarﬂ saL & ?
14.1 %ﬁu wasl Aaiyflds Rk
A(B) T20°C 243 1 kg/em? w3 Ashid Aopti-u 36%
T€)  0°C A S Adalldls Rl
(D) 159C A | kg/em?
Standard air is the air at

(A) :nmsphenc conditions at any specific location
\BJ 20°C and | kg/cm’ and rﬂlatne humidity 36%

(C) 0°C and standard aimospheric conditions

D) 15°C and 1 kg/em? ™™ s



126 HABNAEs cong o
{;-} ﬁ:ﬂ? PHA B el areqey ey
(.] B BRI couguebominl) oy3a(] Bsdh il 3 nad 4l
(€) Al quyz 3y gy {ud '
@) Meny se gy
Adiabatic compression ; in w
_ at 5002 1In whicl
Tempe g i ;
{ﬁy Perature during Compression remains constant

No heat leave
i 5 OF ﬂﬂtﬂrs t‘he- " 2 : & -
: - L0 TessInn 5,
(C) Temperature rige follows | pressor eylinder duning compres ki

(D) Work done s Maximum

127 Aeyifs Sdlall-ual] 29 wf“‘ /\)\f
o C}
T~ %
o

L
y
L%

ingar relationship il ;

(A) 35 Ay 2w Bz Ay~ waet (ratio)

&3] m?n’i SUL wae el el i wa ;?::;.
(€©)  su Wi fag P U
(D) AU AMald $Am ""Q : ‘
Volumetric efficiency is T e
(A) /The Tﬂl_iﬂ of sllmke volume to clearance vol Y
By The ratio of air actually delivered to the aprunt ?‘g}:n displacemen
(C) Reciprocal of compression ratio AN </
(D) Index of compressor p-::rﬁ:rmamej,.;g Q‘;‘;‘
128 . A, Al wla syERdd r@a{(\ :
YAY kcal / kg m* °C N ON\BY keal-m / hr e S L0
(€C) kecal / hr m? °C /) -\":“\" ) keal-m / hr °C Ve
Unit of thermal conductivity ﬂ y UINLS 18 1 L i
(A) kecal / kg m2 °C ?M?tﬂ (B) keal-m / hr m* °C
(C} kﬂal " hr ﬂ'i: ?}gﬁ_“% \‘x' /™ “.};l keal-m / hr °C
3 =
129 4l =2 dl2 2t~ O Baall & .
- i (B) iz [M-dl2a
(A) *’Hﬁ‘a%{ Wi D) Guad A5 «dl
(C) et adl 2l () ) & »
A \Th fﬂT]DWiﬁ? is a case of steady state heatl transfer
t"r‘r[ h E i - = (E%] .rj||_i.r F}ﬂ:hﬂﬂterﬁ
'3\ ngll - . = a . L h H
pating of building wn winter (D) None of the above
A maagi Qa0 Ad a9,
S AT _oq uaidl dul MR {1zl ;
%ﬁ\‘gﬁ.ﬁ{lv{l - % (B) S5t )
(A) &85 (D) &rssiet #t $-a58-
- A '.i. - ) g ;
(©) ?'Bﬁ,.u i Jiquid and $ases talkes place . -
Heat transfer 0 14 (3Y" convection

(A) conduction (D) conduction and convection
o " n
(C) radialio

Downloaded from www.marugujarat.in
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131 naudl 5y e 8 7
(A) ¥ dluz &l ey v -l
(B) i -udlE il Y Brare 8.
©) A6 RBrgA ARA Wil AL 2R A iy A
D) Ay flyr QAni B Wq -l

Fluid is a substance that
(A) /Cannot be subjected to shear forces
B)/ Always expands until it fills any container
Has the same shear stress at a point regardless of its mot
(D) Cannot remain at rest under any shear force

@uqltﬂvu siesl uale W2 589 Bl Y 8 7
(A) 42l Al [y (B)

10N

Yol [aesilléd-Al f‘ﬂ’i‘i

(C) wisa-dl [Hux (D) dYPL YA - Contnuily cquation,
An ideal flow of hn} fluid must fulfill the following
(A) Newton's law of motion Newton's iaxy.{ﬁf}\’is:g@ﬁit}*"

(C) Pascal's law \ﬁzminuhy dquation...,”

133 [RER(AA w5 g 8 7
(A) M¥sec
Newton Second / M-

(B) kg SectM(
(D) «Newton Setond / M

unit of viscosity are NN )
A) MPisec (B) “kg Séc / M
(C) Newton Second / M2 ; ﬂ)} -.-\-_ﬂéwﬁ}n Second / M

134 4 Phs AUl s WY 'ﬁi;;.'sé&i"j'i:% g2 (Crank Shaft)-i ¥2el

Adiequ- wy ? NN
The working cycle in case of fous stroke engine is completed in following

number of revolutions of crank “shaft

@ 7 g BA \‘9/ : ®) 4

135 »udai sfa-tiused 1A wssd au dra wsani 3R 218 SHAlu-A
RLUE A
(A) ¥
A0, e
D) R ¥ wlg ¥ war WP W el 83 8.

The air standard efficiency of an otto cycl ;
S, GO i 8 Cycle compared to diesel cycle for the
(A) Same

“(?)/fess
More

(D] M{‘H‘E or !CSS depeﬂdihgnle?ﬁedﬁﬂwwniaﬁﬁﬁﬁtm
TA Al .



136 Aneiel 54 ey siaai b -l

A) 2995 3a Rwn (B) 4-ls Uda Heewrt
©) U4 et (D) 2 aald

“Which of the following is not an internal combustion ‘engine ?

(A) 2 stroke petrol engine (B) 4'5-_5‘11*;1}&?.} pﬂrﬂi engine
(C) Diesel engine {D}A.team turbine

137 uzsl 530 ads anral 4 saml »ud 8 7

(A) Saspradla @) dlafla A=
o @) Az b 7\
The fatigue life of a part can be improved by %’N O

‘t":ﬂ..

(A) Electroplating (B) Molishing \ s
{C) Coating Shot peen & /
| ILN WV

a -
%

. v

quzy & 7 :
(A) DBiag 22 \ \g&cp&ﬁ
€y R 2w /’}?’?\k\uzﬁ BTSN

138 e Wadi afla el 22udd -u- Z\izf

Tensile strength of a mild steel gﬂj:r@-.n *:;‘ﬁn be roughly predicted from

B,
o=

following bardness test {,:*:K x\: ieg
(A} Brnnell /’.,;} ij 1{94}' Rockwell
(C) Vicker N (D) Share's Sceleroscope
139 du s iﬂ*ﬁ\w &hﬁalﬂtﬂ neel B % -
(A) &R'ﬂa é(%iiw (B) 3£l wSea
{r:; ﬂ?:i}% -8 HIsd D) Sis uet il
‘-E‘.:&ﬁ?ﬁ-fi‘ﬁﬁ-mn refrigeration is same what ltke

f faﬁ'réz cycle (B) Rankine cycle

Hﬁm.eﬁad Carnot cycle (D) None of the above

~4

e

™~ m

Wﬁ“ﬂtﬂ[‘ﬂlﬂ oselloy -2 4 & 7
T (A) -100°C (B) —0°C
(C) —333°C (D) O°C
The beiling point of ammonia is
(A) -100°C (B) -50°C

.\V—EBJ“C (5
- Downloaded from www.marugujarat.in
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141 PRedi Wl Ay g2 KAl Y AR il Asdl fells ued

142

143

144

(A) SRR ®8)

© Qgidser (D) M

The moisture in a refrigerant is removed by _

(A) Evaporator (B), Safety relief VANVe
(D) Driers

(C) Dehumidifier

goel (Fus S-u 2 ay @ ?
(A) Q& WS- @) 3Jymasl sl Mulel

(€©) gearil 0= (D) mm‘“”“"ﬂ "‘q&"{ N
Hook's law holds good upto ' %

(A) Yield point ' ®) Aimit of P““’P"’?’“"“l“"
(C) Breaking point Elastic hmrt 5
AA-umiell 56 lax W B ? A NN )

(A) e 23 W2 () izt 24 Aedl-R
(C) M 34 fldlar AN __: (D} GuR-il (A) ¥ (B)
w}nchufthefnuovnnglsarowerm*'

(A) Ball and socket )| = (B) Piston and cylinder
(C) Cam and follower 07 @)Y (A) and (B) of above
Qe ya-l ydl &ﬁ ﬂi t} ?

(4) VedrfsaTz B) ot W

© Ao D) w@wsfx R

Puﬂe)'lﬂabdldnvcm:uu

) Cyjindrical pair (B) Tuming pair

s $452 R AP D Sg

) 10" (B) 200

£ o (D) 400

Thenotchanglcnfthelmdmtm ) _
Specimen is

(A) 10°

{C) 300 Downloaded from www.marug(%}t.in 200
b

) 400



146 %Bu ﬁ"ﬁ‘ﬁ-ﬁl‘t q:u.:i S%y ‘
(A) ‘Ef-"‘ﬂ hE
B) Al syqe) g,
(C) Asumyj 44 wlaq ({j Ay

(D) Gy My
Stress COncentration g caused due to

g; ;Fﬂaﬂun In properties of material from point to point in a member
tting at points or areas at which loads on a member are applied

20 Ao change of section

(D) Al of the above

147 ARAuy By R lud sui ey W D ?

(A) 284 wAfye B) Bea willua T
(€) Seardls wdduy (D) Guall ddL—
Maximum principal stress theory is applicable-for AN )
(A) Ductile materials Brittle. materials
(C) Elastic materials (D) Allof the-aboye

148 QuA] AU v et Rl f B ? ) Y
(A) iy
(B) nud Al wiA gl {1} L
(C) wuy {13 ul Al Sk
(D) Rudld 2ual 6edl 2 8. _
The saturation temperature of steam with increase in pressure increases
(A) Linearly N =
(B) /Rapidly first and'the-slowly
Slowly first then rapidly

) Inversely- ' 00

140 DA w1 oudalay 2 QA-widl § wued -l ?
(A) MR TR B) AABs o
(©) \ aiulRs el @) YHl»0ds 2eaui 2+
Whn:hls not identical for an atom and an isotope ?

(A} Mass number Atomic number
".'?"'l(.C) “Chemical properties (D) Position in periodic table

150 a5 Sa-t A-udRiu 4 8 ?
(A) Rsus S - AN A (B) aﬂq% 22 - ARud e
©€) Rsus @A 30 SR D) yu Hr

Break Even Analysis consist of -
(A) Fixed cost (B) Variable cost
\“yf'-lm ﬂfﬂ miablq)own cﬁied from www_marugjg t.in Operaiion 00515





